#OK to post homework
#Victoria Chayes, 2/2/2020, Assignment 2
#Problem 4: Accompanying Pictures:

#Fair Die [1/2, 1/2]:
> statistics[Histogram]([seq(add(RSgM(3000,[1/2,1/2])),i=1..3000)]);
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> statistics[Histogram] ([seq(add(RSgM(3000,[1/2,1/2])),4i=1..10000)]);
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#Loaded Die [1/3, 2/3]:

Statistics[Histogram] ([ seq(add(RSgM(3000,[1/3,2/3])),4i=1..3000)]);
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» Statistics[Histogram] ([seq(add(RSgM(3000,[1/3,2/3])),4i=1..10000)]);
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#Fair Die [1/6, 1/6, 1/6, 1/6, 1/6, 1/6]
> statistics[Histogram] ([seq(add(RSgM(3000,[1/6, 1/6, 1/6, 1/6, 1/6, 1/6])),i=1..3000)]);
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> statistics[Histogram]([seq(add(RSgM(3000,[1/6, 1/6, 1/6, 1/6, 1/6, 1/6])),i=1..10000)]);
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#Loaded Die [1/10, 1/10, 1/10, 7/10]:
» Statistics[Histogram] ([seq(add(RSgM(3000,[1/10,1/10,1/10,7/10])),1i=1..3000)]);
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> statistics[Histogram] ([seq(add(RSgM(3000,[1/10,1/10,1/10,7/10])),i=1..10000)]);
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